H £ 0l & AF & S

Al A

0248 20ilaF LB 29 ARt
SN ABIAR D
3 Ngos2d(Letssdd/guddiizel)
el delgts 232E (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
2|2 AFR 1t 861,696 873,684 A11,988
Ngolg=dg(Lerssdy/gygaldiazl) 828,791 840,644 A 11,853
A2gt=E 2312 825,391 836,644 A11,253
Aot PDHAIZ 23 EEMKUS 15,000 0 15,000
201 fer= 3| 15,000 0 15,000
03 &A= 15,000 0 15,000
OE%d P4 Az2d AEM=HE
15,000,000 15,000
SN2 S RIE 87,4% 65,364 22,132
201 er23| 35,806 31,764 4,042
01 At2t2ltl 34,684 11,004 23,680
O=zle|(Zelal, gAlal) =0 S
100,000& »203 2,000
O=J1AH & Jtolict A2F Wi & +cld
2,500,000& 2,500
Ogd By T2 MEE
520,000 x2% 1,040
O ESIIES AMEQIE
2,000,000& 2,000
O2a|eSAIAY 724
3,511,000 x4=2 7 14,044
O2/3EHI0IX RAI24=H]
925,000 122 11,100
OaJleg 2 4223 2
2,000,000 2,000
02 S3=gHl 1,122 20,760 19,638
OQEY M8l AEZ(Y5Y)
93,5002« 128 1,122
202 04| 2,940 3,600 AB60
01 =LH LI 2,940 3,600 2660
OZR222X 2A=F 0
1,500,000& 1,500
O2A £ 21228 0H] 1,440,0002 1,440
405 AtatE = 48,750 30,000 18,750
01 TR ESFSHI 48,750 30,000 18,750
O=32d &alf +¢ 8,750,000 8,750
O30Igle 2 75 EHl72
40,000,000 40,000
QIFMEZAA S 400 21,200 £20,800
301 EtE N = 400 400 0
11 HAIMHIXIZ S 400 400 0
O2l2 JHHEE 1IE 0|
200,000 *23] 400
g2 45,280 35,880 9,400
201 fet=3| 24,880 24,480 400




L OBIAR D
D Xgolslee (LB Hy/YY

=2
DRl E g2 S

SA - ZE . BR(8) - HRAR - BES of v e HIDE2
01 At2t2ltl 24,880 24,480 400
O3J1887| Xtz
50,0002 +5CH* 12 3,000
O22gE e JIgs +
4,000,000 4,000
Oger2a| 2,000,002 2,000
OFSAM, AFFRA XY LB 7Y
250,000 x22H+23] 1,000
O&=)| gitz 60,0003 x4CH* 122 2,880
OZel=8Yl Xz
250,000 «4CH* 122 12,000
202 04| 20,000 11,000 9,000
03 = R0 12,500 11,000 1,500
O2E ofeds = 2,500,000 x6H 12,500
04 =XlI=todb] 7,500 0 7,500
O2a A& oA 2,500,000 +3% 7,500
301 EtE2 NS 400 400
11 #AIAHIXIZ S 400 400
O IAIRZAL 101 S E4048I
200,000 *23] 400
AFES K2 541,115 507,900 33,215
201 Ler23 | 41,500 21,160 20,340
01 At2t2lt] 41,500 21,160 20,340
O&ZAHOIA MZ 50,0002 100K 5,000
O=xAI2E AR 213 B4 =&
70,0002 5 %103 3,500
O2d SR=RAET SARE =&
70,0002 7 H =23 980
O2ad M21=g
1,300,000 *4= 7| 5,200
O2AHARLH HARIE =
70,0002 x4 +23] 560
Ooggs d2A 7Y 1,500,000 1,500
02z JHEE I2+E
400,000& 122} 4,800
O3z dEANASY A5 US|
800, 0002 * 10 <23 16,000
OFHMY JI=Rtzg =8 2,000,000 2,000
Odsdg=g N2 /2 ¢
70,0002 7 H*43] 1,960
202 04l 8,500 9,500 A1,000
01 2LHoIH 8,500 9,500 21,000
O ggsid & Az+d
8,500,000& 8,500
205 2l3/d| 491,115 473,740 17,375
01 |8 & =l 92,400 92,400 0




FA: SIMR D

Ha: XLols 2y (UBTHH/UHULH2I2)

el dlelgs 9|§|§-% T (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OEIPSE- =] 92,400
ORSIPSE= ==l 900,000 x7&H+12& 75,600
02 ZESE X 200,000 x7E 128 16,800
(2=FSESIS 202,192 197,260 4,932
o288 2,407,040 x7 B~ 128 202,192
03 2 =LHOH 5,000 10,000 /5,000
O2E =04 5,000,000& 5,000
04 2|3 =20l 17,500 14,770 2,730
O2 =210 2,500,000 7 17,500
06 oj¥3=g33dl 58,663 48,540 10,123
OEEE=E=LE L] 58,663
oolHRYBEAREY)
52,663,000 52,663
ollMEMEE A 6,000,000& 6,000
06 232 LR Fal| 40,360 40,360 0
O2zlzggf=ay] 40,360
o2& 25,200,000 25,200
oo 12,600,000 12,600
olZAERA 640,000 x4 2,560
07 SIAALNLH(SSE, ML F) 3,750 6,500 A2,750
OojAZNLHI(S XML =) 3,750
o2 HEHAL n=(4U==, YA,
Ol ES=gXE 2,000,000& 2,000
o2y AE &3t 250,000 +7& 1,780
08 QAo (gl2te 5,950 5,950 0
Ol A2RLI(
850,000 +7H 5,950
09 21 Z Iyl 35,000 356,000 0
(O FERSESP) = ga] 5,000,000& +7& 35,000
10 AEEANMRES 13,500 7,000 6,500
O g € 13,500,000 13,500
N 2AA=UASRES 8,400 8,400 0
Ool=pIERe 3
100,000 x7&* 122 8,400
2 oE=ALRES 8,400 7,560 840
Ool=pIAYRH RS
100,000 x7&* 122 8,400
AdsER 114,000 157,000 243,000
201 =3 54,000 157,000 103,000
01 At22t2lH] 54,000 157,000 103,000
OAFEAAX M= 2,000,000 *42] 8,000
O2l3 ystesl ot 11,000,000 11,000




2A:

9|3 AFS Dt

A Xgog2g(ditssdy /gy diiael)
el delgts 232E (SH9 H2)
RA B - SRA(E) - MIRAR - B ol &4 e HIDEY
O XHAAIE = XIZ 4|
125,000« 128 1,500
OHMOth =8| 25| EEAAMHM X
20,000,000& 20,000
OFA HEE 2 MA (LA, FAE S)
750,000 *10=! 7,500
020243 =AZIMBIA 6,000,000 6,000
308 AHXIEMSOIE 60,000 60,000
18 S| 2SS &HAEAIE 60,000 60,000
OomES cE(NY) &
60,000,000& 60,000
A=Al 2 22,100 49,300 A27,200
201 Zet2& ] 22,100 22,300 A200
01 AtR2telbl 11,700 5,900 5,800
OnxE=z S8z 600,000 *3CH 1,800
OEA AN&E EBi=I1 € 238D
70,0002 *300H 2,100
OHM B8 425 7Y
1,800,000 1,800
O EAEHHI 6,000,000& 6,000
02 3224l 10,400 16,400 26,000
Ooau-e s=4l 600,000 & 42 2,400
Oxtgts Al 2teltl 5,000,000 5,000
OFA RXIE2= 3,000,000 3,000
ANE =QAIM HREX (2 AR D) 3,400 4,000 A600
ANZAY BRFE(2A)(2ASIALR L) 3,400 4,000 2600
203 B2 =L 3,400 4,000 A600
03 AIM =LA R FAIH| 3,400 4,000 AB600
OAI ALY HARFE 3,400,000& 3,400
HEPHHHI(2SIAFR D) (DIEHDIEY) 32,905 33,040 A135
=&l 32,905 33,040 A135
Jl=&H| 32,905 33,040 A135
201 L= 19,500 23,000 A3,500
01 AFS2t2ltl 13,500 15,000 A 1,500
ORAM2E AR 22| 13,500,000 13,500
02 S22l 6,000 8,000 A2,000
ORAM2Y 2329H| 6,000,000 6,000
202 04| 1,800 2,000 2200
01 =LHNHI 1,800 2,000 2200
A2 =Wl 1,800,000 1,800
203 gR=8| 8,005 5,040 2,965
01 J1 22824 2,805 0 2,805
OJ|22g gR=ad| 2,805,000 2,805
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